10. Name the element which has the following numbers of particles:

a. 26 electrons, 29 neutrons, 26 protons I N

Todine

b. 53 protons, 74 neutrons

c. 2 electrons (neutral atoms) H L\{u 2 Y

d. 20 protons QQ lgium
L ead

e. 86 electrons, 125 neutrons, 82 protons

f. 0 neutrons

H\,dfOSQY\

11. If you know ONLY the following information can you ALWAYS determine what the element is? (Yes/No)

a. Number of protons \IM.S

b. Number of neutrons __ 1) O

c. Number of electrons in a neutral atom \‘.{’_S

d. Number of electrons _ Y} O
12. Fill in the missing items in the table below. Sk“r)

NAME SYMBOL J:‘ ?:‘k mné?;t # PROTONS ELE;RONS NEUT#RONS \\)"Sg;%(
Sodiaem | ™ [0 (a3 | w [uw [ [\ ]
oCrlovme | <\ | 7 |25 3 | = g |\ ]
cmm | ) 109 (29 |19 |19 |20 |\ ]
Phaspers, © |15 3\ |15 |15 [16 | | |
e on fe |26]50]26 | * |30 | |/
flodwe | 1 15231 > 5% |4 \/

e e | Na A7 |10%| 4F | 4% [l |

" Kt‘g}g’fm Ke | * 185 | 26 | 36 |44 /\
i'—Tunss-\en w344 74 1 74 1o / \
Copper Ca |l 210429 |29 |25 / \
“Tadium in 49 \5 49 Lllc, b / \
Qold Au 179093 = | = 0% |/ \|
"Sulfer | S | © D2 [ 16 | * |lb




